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%1% F18 201548 H23H
1 INETHS VS 5 Ias¢PA
H= A=
T e o AT
It BEE P ITp— % - U
=5 - 7 - el % AEE 7 3
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 2NT -1 -50 x 2S = -110 2
2 it [£3] 2S = 110 [ri] 2H -1 50 2
3 ,?ﬁ [£3] 4H +1 450 [£3] 4H = 420 1
4 WE=] [£3] 4H +1 650 1t 4H +1 650
5 it x 4S +1 -450 x 4S +1 -450
6 ,?ﬁ [£3] 2NT = 120 [£3] INT = 90 1
7 WE=] x 3S -2 200 1t 3D = 110 3
8 TS x 2S +1 -140 x 4Sx = -590 10
9 ,?ﬁ 1t 2H +2 170 1t 3H = 140 1
10 | WHB [£3] INT -1 -100 [ri] 1S +1 -110
11 | W x 3H +1 -170 [ri] 3NT -1 50 6
12 | Edb x INT -2 100 1t 1H +3 170 2
13 | W/ [ri] 4S +1 -650 [ri] 4S +1 -650
14 | W x 2D +3 -150 [ri] 3D +1 -130 1
15 | Edt x 3NT -1 50 [ri] 3NT +1 -430 10
16 | ZRFg x 4S -1 100 x 4S -2 200 3
DATUMiT T
I MLTHR PA Y. X+ 30 | 12
BEAS 6 SemTEEE 10 | &t | o |
XIBf/5KFH 10 BE—/APElE -6 V.P. 146 | 5.4




BR A E
1k %2 5 201548/ 23H
2 BFLIPA VS 7 [THERT
= FES
BELTRA TMERIT TMNERT BELTRA
p| b = R EFEE | R EISYE IR BER%E
IS 7 FEE B BUKiE 79 RaE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxl & | 40 | 2 | 50 | & | 4aH 50
2 |mdtl 7 | 4sx | -1 | 100 | 7 | 4sx | -2 | 300 5
3 |&mA| % | aNT | = | 00| 7 | sNT | +3 | 690 | 3
a |\wal m | 4s | = | 620 | ® | 4s | = | 620
5 |@dt] &&= | aNT | +1 | 430 | & | aNT | +2 | 460 | 1
6 |&wAm| m | 3c | 3| -150| 7 | 2H | +1 | -140
7 |wal &6 | 3p | = | 10|l @ | 3D | = | 110
8 |wx| m | anT | +3 | 180 & | aNT | +2 | 120 | 2
o |HwEm| 4t | 2s | 2| 50 | 4 | 25 | 2 | 50
10 | ;B LL PAS B | 3NT | -1 | -100 3
11 |wxl 46 | 40 | 2| 50 | B | 4s | -2 | 50
12 |mdt] 7 | sDx | 2 | 200 | 4t | 44 | -2 | -1200 ] 5
13 |waE| 4t | 3NT | +1 | 630 | 4t | 3NT | +3 | 690 2
14 |wxl| @ | 3s | = | -140] & | 35 | = | -140
15 |gdtl &= | 3H | -1 | 50 | 7 | 2H | +1 | ;140 ]| 5
16 |&@m| B8 | 35 | 1| 50 | & | 4s | 2 | -100]| 2
DATUM#it i
BHLOA [ HERT v -] 21 7
TR R/IEED 2 1T H/22KIE -8 ait 21 7
BBRRE/RIAE 8 EXE/TEE -2 V.P. 13.74 | 6.26
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3 i#YliEaLL VS 8 BRXAFD
H= A=
S I I ST
1t - vECE 7 - IR It GER 7 : BB
B BURS 7 EUReE B9 EURSR 7 BT
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 5D +1 -420 [ri] 3NT 100 11
2 it [ri] 2S = -110 [ri] 4S -2 100 5
3 ,?ﬁ 1t 3NT +1 430 1t 3NT +2 460 1
4 E=] [ri] 5D = -600 x 5C = -600
5 it 1t 4S = 620 1t 4S -1 -100 12
6 panyiie] 1t 2H +1 140 [£3] 4S -1 -50 5
7 E=] [£3] INT +1 120 [£3] INT +1 120
8 TS x 6H -1 50 x 5H = -450 11
9 ,?ﬁ [ri] 1H = -80 1t INTX = 180 6
10 | WHB 1t 3NT -1 -100 1t 3NT +1 630 12
11 | W [ri] 4S -2 100 [ri] 4S -1 50 2
12 | Edb x 2D -1 50 x INT +1 -120 5
13 | WH/ [ri] 4S -1 100 [£3] 2Dx -4 -1100 15
14 | WF [£3] 3S +1 170 [£3] 3S +1 170
15 |gel & | aNT | = | 400 | & | aNT | +2 | 460 | 2
16 ,?ﬁ [£3] 4S +1 450 [£3] 4S -1 -50 11
DATUMiT T
v e H ] aaAF Y. X+ 63 | 35
lLFSZ BE/RR = 6 FER/ERE -14 Aait 63 | 35
IRER/ZHETE 14 (AR B8 -6 V.P. 16.42 | 3.58
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1R %45 201548 H23H
4 FER VS 6 BAXRIE
H= A=
TR BRI BRI I
It B . It mEf % IR
——— e e 7 :
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 4S = -420 [ri] 4S +2 -480 2
2 it [£3] 3NT +2 660 1t 3NT +1 630 1
3 panyiie] 1t 4Sx -3 -500 1t 3S -2 -100 9
4 WE=] [ri] 4S +1 -650 [ri] 4S +1 -650
5 it 1t 3NT -4 -400 [£3] 3C -1 -100 7
6 gy x 4S = -620 x 4S -1 100 12
7 E=] [£3] INT -100 [£3] INT +1 120 6
8 TS x 5Cx -4 800 1t 6S = 980 5
9 |FAl H 4H +1 | -650 R 3NT | +2 | -660
10 | WHB [£3] 4S +1 650 [£3] 4S +1 650
11 | W x 2Sx -3 500 [ri] INT -1 50 10
12 | Edb x INT = -90 x INT = -90
13 | W/ [£3] 3NT +1 630 [£3] 3NT +1 630
14 el &8 | as | +1 | 450 | & | as | = | 420 | 1
15 | Edt x 4S +1 -450 [ri] 3NT +2 -460
16 | ZRFg [ri] 3S -1 100 [ri] 3S -1 100
DATUMiT T
~IER RS Y. X+ 14 | 39
IRHER/TE -7 SAE/EN 19 ait 14 | 39
B =S/ IRV -19 |l H/RE 7 V.P. 4.08 | 15.92




